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ENGLISH

THE RATTRAP BY SELMA LAGERLOF
Q.1 Read the following extract and answer the following questions choosing the most appropriate
answer:
“It was all a mistake, of course,” she continued?
a. Who is ‘she’ in the sentence?
i. Selma Lagerlof
ii. A guest on the Christmas Eve at the Manor House
iii. Edla Willmansson
iv. Crofter’s wife
b. What was the mistake committed?
i. Mistake of losing 30 kronors
ii. Mistake of abandoning the iron mill
iii. Mistake of employing the tramp
iv. Mistake of guessing the tramp as Neil Olof
c. How does Edla convince her father to let the tramp stay in the manor house till Christmas Eve?
i. By being emotional and crying
ii. By talking to him
iii. By explaining the vicious cycle of sorrow and depravity of a poor
iv. By threatening him
d. What was revealed when the tramp bathed and cleaned himself?
i. He looked smart and refreshing
ii. He looked like a master in the ironmaster’s clothes
iii. His manners got changed and behaved like an educated person
iv. His true identity was revealed
Answer the following questions in 20-25 words (Very Short Questions)
Q.2 Who has been compared with the parson?
Q.3 State the philosophy of the protagonist.
Q.4 Who was the Crofter?
Q.5. How was the tramp received by the master blacksmith?
Q.6 Who was Captain von Stahle?
Q.7 Why was Edna sent to convince the tramp when the ironmaster failed to do so?
Q.8 What did the ironmaster suggest Edna to do as their first priority for the tramp?
Q.9 What did the duo find about the tramp at the early Christmas service?
Answer the following question in 30-40 words( Short Questions)
Q.10 Why did the tramp not reveal his true identity to the ironmaster when mistaken as his friend?
Q.11 What could be the reason for the tramp to think so ill about this world?



MATHEMATICS
Assignment on Tangents and Normals

. Find the equation of tangent and normal to the curve y=x*-6x3+13x?-10x+5 at (1,3)

. Find the point on the curve y=x3-11x+5 at which the tangent is y=x-11

. Prove that the tangents to the curve y?=2x at the points when x= % are at right angle.
. Prove that equation of tangent to the curve (2)”+(%)”:1 at (a,b) isg +% =2

. Find the equation of tangent to the curve y= (x3-1)(x-2) where the curve meets the x axis

. Show that the curves x=y? and xy=a when o =ﬂ:2—\1/2

. Find the point on the curve y= x® at which the tangent is horizontal.

A

. Find the equation of the tangent to the curve y=cot?x-2cotx+2at at x= "

. Find the equation of the tangent and normal to the curve y= (x_x_

— X7 atthe point where it cuts the x axis.
2)(x-3)

ACCOUNTANCY

Admission of a Partner
What compensation is paid by a new partner to the sacrificing partners for sacrificing their share in favour of him?

Vinod and Raj are partner in a firm sharing profits in the ratio of 3:2. They admit Mohan into the partnership for
1/5th share. Mohan brings Rs.60,000 as capital and Rs.20,000 as premium for goodwill. New profit-sharing ratio
of partners will be 5:3:2. Pass necessary journal entries.

3. Xand Y were partners in a firm sharing profits in the ratio of 3:2. They admitted Z and M as new partners. The
new profit-sharing ratio will be 2:2:1:1. Z and M brought in Rs.11,00,000 each for their respective capitals and
also necessary amount of premium for goodwill in cash. Goodwill was valued at Rs.9,60,000 for the firm.
Calculate the sacrificing ratio of X and Y and pass necessary journal entries for the above transactions in the
books of the firm.

4. Ashu and Bindu are partners in a firm sharing profits in the ratio of 3:2. Chameli is admitted as a partner. Ashu
and Bindu surrender 1/2 of their respective shares in favour of Chameli. Find the new profit-sharing ratio and also
the sacrificing ratio. Chameli is to bring his share of premium for goodwill in cash. The goodwill of the firm is
estimated at Rs.80,000. Pass necessary entries for the record of goodwill in the above case.

5. AK and BK are partners in a firm sharing profits in the ratio of 5 : 3. They admit CK into the partnership for
3/10th share in profits, which he takes 1/10th from AK and 1/10th from BK. CK brings in Rs.15,000 as premium
in cash out of his share of Rs.39,000. Goodwill account does not appear in the books of AK and BK. Give
necessary journal entries.

6. Ram, Shyam and Mohan were partners in a firm sharing profits in the ratio of 3:2:1. They admitted Vinod as a
new partner for 1/7th share in the profits. The new profit-sharing ratio will be 2:2:2:1 respectively. Vinod brought
Rs.6,00,000 for his capital and Rs.90,000 for his 1/7th share of goodwill. Give necessary journal entries.

7. Aand B were partners in a firm sharing profits and losses in the ratio of 3:2. They admitted C as a new partner for
3/7th share in the profits and the new profit sharing ratio will be 2:2:3. C brought Rs.4,00,000 as his capital and
Rs.3,00,000 as premium for goodwill. Half of their share of premium was withdrawn by A and B from the firm.
Calculate sacrificing ratio and give necessary journal entries.



8. Xand Y are partners in a firm sharing profits in 3:2 ratio. They admitted Z as a new partner and the new profit-
sharing ratio will be 2:1:1. Z brought Rs.20,000 for her share of goodwill. Goodwill already appeared in the books
at Rs.10,000. Give necessary journal entries.

BUSINESS STUDIES Chapter-9 Financial Management

Q1. Select the wrong pair:

(a) Building- Working capital

(b) Interest- Debentures

(c) Dividend- Share capital

(d) Mix of debt and equity- Capital structure

Q2. Excess of current assets over current liabilities is known as

Q3. Igbal has started a small take away restaurant near a multi speciality hospital. He is on good terms with Salman,
a grocery shopkeeper who sells him goods on one month credit. The working capital needs of Igbal will be

Q4. ABC Ltd. has Debt Equity ratio of 3:1 whereas XYZ Ltd. has Debt Equity ratio of 1:1. Name the advantage
ABC Ltd will have over XYZ Ltd, when the rate of interest is lower than the rate of return on investment of the
company.
(a) Trading on equity;
(b) Low risk;
(c) Low cost of equity;
(d) Greater flexibility
Q5. Vikrant joins his father’s business of Organic masalas, near Kotgarh in Himachal after completing his MBA. In
order to capture a major share of the market, he decided to sell the product in small attractive packages by using the
latest packaging technology. His father suggested that they hire financial consultants to estimate the amount of funds
that would be required for the purpose & timings when it would be required. The concept being discussed by
Vikrant’s father, links which financial decision with the investment decision?
(a) Dividend decision;
(b) Financial Planning;
(c) Capital structure decision;
(d) Financing decision.
Q6. Visions Ltd. is a renowned multiplex operator in India. Presently, it owns 234 screens in 45 properties at 20
locations in the country. Considering the fact that the there is a growing trend among the people to spend more of
their disposable income on entertainment, two years back the company had decided to add more screens to its
existing set up and increase facilities to enhance leisure, food chains etc. It had then floated an initial public offer of
equity shares in order to raise the desired capital. The issue was fully subscribed and paid. Over the years, the sales
and profits of the company have increased tremendously and it has been declaring higher dividend and the market
price of its shares has increased manifolds.
In context of the above case:
a) Name the different kinds of financial decisions taken by the company by quoting lines from the paragraph.
b) Do you think the financial management team of the company has been able to achieve its prime objective? Why or
why not? Give a reason in support of your answer.

Q7. Ramnath Ltd. is dealing in import of organic food items in bulk. The company sells the items in smaller
quantities in attractive packages. Performance of the company has been up to the expectations in the past. Keeping
up with the latest packaging technology, the company decided to upgrade its machinery. For this, the Finance
Manager of the company, Mr. Vikrant Dhull, estimated the amount of funds required and the timings. This will help
the company in linking the investment and the financing decisions on a continuous basis. Therefore, Mr. Vikrant
Dhull began with the preparation of a sales forecast for the next four years. He also collected the relevant data about
the profit estimates in the coming years. By doing this, he wanted to be sure about the availability of funds from the
internal sources. For the remaining funds he is trying to find out alternative sources. Identify the financial concept
discussed in the above paragraph. Also, state any two points of importance of the financial concept, so identified.



ECONOMICS
Q1 The programme of economic reforms in India was started on 24" July
A 1991
B 1992
C 2005
D 1990

Q2 Which of the following is not an element of fiscal reforms?
A Taxation reforms

B Change in ROI

C Public expenditure reforms

D Control on public debt

Q3 Define Liberalisation.

Q4 Define Devaluation.

Q5 How does privatization lead to fiscal consolidation?

Q6 What makes India a favourite destination for outsourcing?
Q7 Explain in brief the Liberalisation reforms in financial sector.
Q8 State any 3 arguments in favour of New economic Policy.

BIOLOGY
Chapter 6 (1)
. Why is DNA and not RNA is the genetic material?
. What is transformation? Describe Griffith’s experiment to show transformation? What was his conclusion?
. Why does chromatin looks like beads on string under microscope?
. Draw the ds polypeptide chain of DNA labelled with the bonds.
. Differentiate between hetero and euchromatin.
. In a ds DNA sample Guanine is 20%. What is the percentage of other N.bases?
. In a DNA sample Adenine is 40% and Thymine is 50%, what reason can you think of for this sample?
. If total number of base pairs in an organism’s DNa are 4 X 10°, then what will be the length of DNA?
Hint : DNA Length =No. Of base pair x0.34nm (1nm= 10°m)
9. If a length of DNA has 35,000 base pairs, how many complete turns will the DNA molecule take?
10. Define central dogma.

0 N O O WP



CHEMISTRY

CLASS - XII CHEMISTRY (Surface chemistry)

Topic: Factors affecting adsorption, Application of adsorption , Homogeneous and

hetrogeneous catalysis

1. Name the factors which influence the extent of adsorption of a gas on solid.

2. What is adsorption isotherm?

3. AH for chemisorption is high .why?

4. Explain Freundlich adsorption isotherm.

Give an equation showing variation of extent of adsorption with concentration

F.ﬂ

of a solution?
6. Name the adsorbent used
a) To remove coloured impurities from sugar solution.
b) In gas masks to remove chlorine.
¢) To remove moisture from air.
7. Define the terms - catalysis and catalyst.
8. What are positive and negative catalysts?

9. What do you mean by the term promoter? Give an example.

10. What are homogeneous and heterogeneous catalysis? Give example,
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PHYSICS
MCQ, ONE WORD & FILL IN THE BLANKS QUESTIONS

Consider a current carrying wire current | in the shape of a circle. Note that as the current
progresses along the wire, the direction of j (current density) changes in an exact manner, while
the current | remain unaffected. The agent that is essentially responsible for is

(a) source of emf.

(b) electric field produced by charges accumulated on the surface of wire.

(c) the charges just behind a given segment of wire which push them just the right way by
repulsion.

(d) the charges ahead.

Two batteries of €1 and €, (g2 > €1) and internal resistance r;

and r, respectively are connected in parallel as shown in & /\
figure. (a) The equivalent emf g¢q Of the two cells is between T

€1 and €, i.e. €1 < €eq < E2. A FB 1
(b) The equivalent emf geq is smaller than €. Iy

(c) The €cq is given by €eq = €1 + €2 always. a\/'" £

(a) €eq is independent of internal resistances r; and r-.

A resistance R is to be measured using a meter bridge. Student chooses the standard resistance

S to be 100 Q He finds the null point at . = 2.9 cm. He is told to attempt to improve the accuracy.
Which of the following is a useful way? [NCERT Exemplar]

(a) He should measure I1 more accurately. 1
(b) He should change S to 1000 Q and repeat the experiment.

(c) He should change S to 3 Q and repeat the experiment.

(d) He should give up hope of a more accurate measurement with a meter bridge.

Two cells of emf’s approximately 5 V and 10 V are to be accurately compared using a
potentiometer of length 400 cm. [NCERT Exemplar]

(a) The battery that runs the potentiometer should have voltage of 8 V.

(b) The battery of potentiometer can have a voltage of 15 V and R adjusted so that the potential 1
drop across the wire slightly exceeds 10 V.

(c) The first portion of 50 cm of wire itself should have a potential drop of 10 V.

(d) Potentiometer is usually used for comparing resistances and not voltages.

Consider a simple circuit shown in figure stands for a variable resistance %
R'. R’ can vary from Ry to infinity. r is internal resistance of the battery (r X R,
<< R << Ry). (a) Potential drop across AB is not constant as RO is
varied.

(b) Current through RO is nearly a constant as RO is varied.

3
Iz
(c) Current | depends sensitively on RO. (d) r+ R always.




6 In a meter bridge, the point D is a neutral point (figure). (a) The rﬁj
meter bridge can have other neutral point for this set of resistances. h oo
(b) When the jockey contacts a point on meter wire left of D, current Al = ‘
flows to B from the wire. ' =5
(c) When the jockey contacts a point on the meter wire to the right of -
D, current flows from B to the wire through galvanometer.

(d) When R is increased, the neutral point shifts to left. . [ (s

7 Which of the following is wrong? Resistivity of a conductor is
(a) independent of temperature.
(b) inversely proportional to temperature.
(c) independent of dimensions of conductor.
(d) less than resistivity of a semiconductor.

8 Drift velocity vq varies with the intensity of electric field as per the relation
1
a) v,= FE by v, ;= —
(@) vy ) va I

(c) »,;= constant (d) vy E*

9 For measurement of potential difference, a potentiometer is preferred over voltmeter because
(a) potentiometer is more sensitive than voltmeter.
(b) the resistance of potentiometer is less than voltmeter.
(c) potentiometer is cheaper than voltmeter.
(d) potentiometer does not take current from the circuit.

10 For a cell, the graph between the potential difference (V) across the terminals
of the cell and the current (1) drawn from the cell is shown in the figure. The
e.m.f. and the internal resistance of the cell are 5
(a)2Vv,0.5Q (b)2V,0.4Q 10
(c)>2Vv,05Q(d)>2Vv,04Q 08

01 2 3 4 35
I{amperes)

11 A Daniel cell is balanced on 125 cm length of a potentiometer wire. Now the cell is short-circuited
by a resistance 2 ohm and the balance is obtained at 100 cm. The internal resistance of the
Daniel cell is
(a) 0.5 ohm (b) 1.5 ohm
(c) 1.25 ohm (d) 4/5 ohm

12 When there is an electric current through a conducting wire along its length, then an electric field
must exist
(a) outside the wire but normal to it.
(b) outside the wire but parallel to it.
(c) inside the wire but parallel to it.
(d) inside the wire but normal to it.



13 Three resistors each of 2 ohm are connected together in a triangular shape. /\

The resistance between any two vertices will be e
/e
(a) 4/3 ohm (b) 3/4 ohm A
(c) 3 ohm (d) 6 ohm
14 From the graph between current | and voltage V shown below,
identify the portion corresponding to negative resistance JIr E
— C !
(a) AB (b) BC ' /
(c) CD (d) DE A '/; \\"{ >
JR =

15 A battery consists of a variable number ‘n’ of identical cells
having internal resistances connected in series. The (@ ;4 @ ;4
terminals of battery are short circuited and the current i is /
measured. Which of the graph below shows the /
relationship between i and n? 0 > o

€) A \ (d) . A

-~

Iy n

16 There are n similar conductors each of resistance R. The resultant resistance comes out to be x
when connected in parallel. If they are connected in series, the resistance comes out to be

17 In the circuit shown, potential difference between X and Y is and across 40 Q is
40 0y XN
200

|
120 VI

18 The figure below shows currents in a part of electric circuit. The current i is

2A 1A

19 A wire is stretched so as to change its length by 0.1%, the percentage increase in its resistance
will be



20 The current in the given circuit will be . >

na

21 A cell of emf E is connected with an external resistance R, then p.d. across cell is V. The internal
resistance of cell will be

22 The figure shows a network of current and the magnitude of current. The current | will be

15A
3A

3AY Y

L 4
bt

5A

23 A metal rod of length 10 cm and a rectangular crosssection of 1 cm x 1/2 cm is connected to a
battery across opposite faces. The resistance will be
(a) maximum when the battery is connected across 1 cm x 1/2 cm faces
(b) maximum when the battery is connected across 10 cm x 1 cm faces
(c) maximum when the battery is connected across 10 cm x 1/2 cm faces
(d) same irrespective of the three faces

24 Which of the following characteristics of electrons determines the current in a conductor?
(a) Drift velocity alone.
(b) Thermal velocity alone.
(c) Both drift velocity and thermal velocity.
(d) Neither drift nor thermal velocity.

25 Kirchhoff’s junction rule is a reflection of
(a) conservation of current density vector.
(b) conservation of potential.

[EnN

(c) the fact that the momentum with which a charged particle approaches a junction is unchanged !

(as a vector) as the charged particle leaves the junction.
(d) the fact that there is no accumulation of charges at a junction.

26 Temperature dependence of resistivity p(T) of semiconductors, insulators and metals is
significantly based on the following factors: [NCERT Exemplar]
(a) number of charge carriers can change with temperature T.
(b) time interval between two successive collisions is independent on T.
(c) length of material can be a function of T.
(d) mass of carriers is a function of T.



27 Ohm’s law is true.
(a) For metallic conductors at low temperature.
(b) For metallic conductors at high temperature. 1
(c) For electrolytes when current passes through them.
(d) For diode when current flows.

28 A cell of internal resistance 1.5 Q and e.m.f. 1.5 volt balances on 500 cm length of a
potentiometer wire. If a wire of 15 Q is connected between the balance point and the cell, then the
balance point will shift
(a) to zero (b) by 500 cm 1
(c) by 750 cm (d) no change

29 The magnitude and direction of the current in the circuit shown will be

10

a |—0—| — b
10V 4

in 1
d APAAN c

(a) 7/ 3A from a to b through e
(b) 7/3A from b to a through e
(c) 1 Afrom b to a through e
(d) 1 A from a to b through e

30 In an experiment of meter bridge, a null point is obtained at the centre of the bridge wire. When a
resistance of 10 ohm is connected in one gap, the value of resistance in other gap is
(@)10Q(b)5Q
(c)15Q (d) 500 Q

31 The terminal potential difference of a cell is greater than its e.m.f. when it is
(a) being discharged.
(b) in open circuit. 1
(c) being charged.
(d) being either charged or discharged.

32 If the length of potentiometer wire is increased, then the length of the previously obtained balance
point will
(a) increase.

(b) decrease. 1
(c) remain unchanged.
(d) become two times.
33 Kirchhoff’s first law, i.e. Zi = 0 at a junction is based on the law of conservation of ) 1
34 Kirchhoff ’s second law is based on the law of conservation of ) 1
1

35 The potential difference between points A and B of given figure is
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36 A cell of e.m.f. 1.5V having a finite internal resistance is connected to a load resistance of 2Q. For

maximum power transfer the internal resistance of the cell should be 1
37 When the current i is flowing through a conductor, the drift velocity is v. If 2i current flows through
the same metal but having the double area of cross-section, then the drift velocity will be 1

38 Two wires of the same metal have same length but their cross-sections are in the ratio 3 : 1, they
are joined in series. The resistance of the thicker wire is 10 Q. The total resistance of the 1
combination is

39 Two resistors having value in ratio 2 : 1 are connected in parallel with one cell then the ratio of

power dissipated is !
40 Eight resistances each of 4 Q) are connected in the circuit as shown in figure. The equivalent
resistance between A and B is
1

HISTORY
Chapter 6

Write the answer of following questions not more than 350 words 8 marks carry.
Discuss the main teaching of Islam ?
Discuss the ways in which the Alvars , Nayanaras and Virashivas expressed critiques of the caste system .
Examine how and why rulers ttied to establish connections with the traditions of the Nayanaras and the Sugis.
Analyse with illustration why Bhakti and Sufi thinkers adopted a variety of languages in which to express their
opinions .
Discuss the activities of Chisti Silsila in subcontinent’s on the basis of the Khanqahi of Shaikh Nizamuddin Auliya ?
Describe the key features of Bhakti Movement ?
Give reason for the sucess of Sufism ?
Bhakti movement was late in developing in North India as compared to South India . Discuss .
Who was Guru Nanak Dev ? What type of Bhakti he suggested ? How did foundation of Khalsa Panth came in front?

10 What were the similarities and differences between the be-sharia and B.A.-sharia Sufi traditions ?
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3.
4.

GEOGRAPHY

Topic: Tertiary and quaternary activities

Which activities are involved under tertiary activity?
Distinguish between a) rural marketing centre and urban marketing centre
b) retail trading and wholesale trading
How does transportation is a important component of a national economy.
“The use of telecommunications is linked to the development of the modern time. Justify the statement with

examples.

5.

HOo~NO

12.
13.

14.
15.

How does tourism foster the growth of infrastructure of a place?

PSYCHOLOGY

(VERY SHORT QUESTION: 1IMARKS)

A soldier from the army reported paralysis of the right hand. The doctors said that it is not physiologically possible to
experience paralysis of the hand only. The disorder he is suffering from is

Children who have marked difficulties in social interaction and communication, de5|re for routine and restricted
interests are suffering from

Inability to stop thinking about a partlcular idea or topic is known as behaviour.

Nishant shows loss of interest in most of the activities, cannot sleep well at night, exhibits excessive guilt and loss of
interest in activities that he would enjoy earlier. Nishant’s symptoms are akin to
A dreamlike state separating self from reality is known as

(SHORT QUESTION: 3 MARKYS)

Using an appropriate example differentiate between delusion of persecution and delusion of reference.
Can abnormal behavior be attribute to deviation from social norm? support your answer with evidence.
How can a child with SAD be identified?

How does the psychodynamic model explain abnormal behavior?

. Explain the four core features that define abnormality.

(SHORT QUESTION TYPE II: 4 MARKYS)

. Ankit a 14-year-old boy committed suicide as a result of cyber bullying. Could this have been prevented if early

identification of suicidal ideation were done? What should the parents been looking out for?

Descried the characteristics of children with hyperactivity.

Aarohi, is extremely concerned with cleanliness. In fact, before she retires at night, she goes through a cleaning ritual
of her clothes and body that sometimes lasts for up to 2 hours. If she misses a step in the ritual or performs part of it
imperfectly, she starts the ritual all over again. ldentify the disorder and list the characteristic features.

Which disorder is the cause of distorted body image? Explain its various forms.

Anxiety has been called the “butterflies in the stomach feeling”. At what stage does anxiety become a disorder?
Discuss its types.

LEGAL STUDIES

Q1. What was stated in Donoghue Vs. Stevenson?

Q2. The basic understanding of negligence is that wrong-doer or the defendant has been careless in a way that
harms the interest of the victim or the claimant. Explain?

Q3. What do you mean by Unlawful harassment.

Q4. What is the basic principle underlying the Absolute Liability

Q5. What are the three important objectives of tort law?



POLITICAL SCIENCE
CHAPTER 5 PARTIES AND PARTY SEYSTEM IN INDIA
Very Short Answer Type Questions[1 Mark]

Q1. Which major factor was responsible for the dramatic victory of Indira Gandhi in 1971 elections?

Q2. Who represented Congress (O) and Congress (R) after the split of Congress Party?

Q3. What is meant by term ‘Congress Syndicate?

Q4. In 1966, who contested against Indira Gandhi for the post of Prime Minister from among Congress MPs?

Q5. What was the Slogan of Indira Gandhi during the elections of 19717

Q6. Name the leaders who gave the following slogans.

1. Jai Jawan, Jai Kisan

2. Garibi Hatao

Q7. Why are the results of 1967 elections in India called Political Earthquake?

Q8. What challenges were faced by India between 1964 to 1966 during Prime- ministership of Lai Bahadur Shastri?

Very Short Answer Type Questions [2 Marks]
Q1. What is meant by Grand Alliance?
Q2. Why did Indira Gandhi government devalue the Indian Rupee in 1967?

Short Answer Type Questions [4 Marks]

QI. Explain any two reasons for the popularity of Indira Gandhi during 1971 elections.

Or

Analyse any three factors which enhanced popularity of Indira Gandhi in the early 1970s.

Q2. What does ‘defection’ stand for in Indian politics? Highlight any two demerits of this practice?

Q3. Why was the year 1967 considered a landmark year in India’s political and electoral history? Explain.
Q4. What is meant by ‘Privy Purses’? Why did Indira Gandhi insist on abolishing them in 1970?

Q5. How did the outcome of 1971 elections help in restoration of Congress?

Passage Based Questions |5 Marks]

1. Read carefully the passage given below and answer the following questions:

The New Congress had something that its big opponents lacked—it had an issue, an agenda and a positive slogan. The
Grand Alliance did not have a coherent political programme. Indira Gandhi said that the opposition alliance had only
one common programme ‘Indira Hatao’. In contrast to this, she put forward a positive programme captured in the
famous slogan ‘Garibi Hatao’.

Questions

1. Which Congress is being referred to as ‘the New Congress’?

2. Highlight any two steps taken by Indira Gandhi to remove poverty.

3. How far is it justified to call the ‘opposition alliance’ as the ‘Grand Alliance’?

2. Read the passage given below carefully and answer the questions:

The defeat of the official Congress candidate formalised the split in the party. The Congress President expelled the
Prime Minister from the party; she claimed that her group was the real Congress. By November 1969, the Congress
group led by the ‘syndicate’ came to be referred to as the Congress (Organisation) and the group led by Indira Gandhi
came to be called the Congress (Requisitionists). These two parties were also described as Old Congress and New
Congress. Indira Gandhi projected the split as an ideological divide between socialists and conservatives, between the
pro-poor and the pro-rich.

Questions

1. What formalised the split of Congress?

2. Mention two groups created after the split.

3. How did Indira Gandhi project the split?




Long Answer Type Questions [6 Marks]

Ql. Analyse any three major factors which led the popularity of Indira Gandhi’s Government in the early 1970s.
Q2. Examine the three main reasons responsible for the split in Congress during 1969.

Or

Describe the various aspects of presidential election of 19609.

Picture/Map Based Questions [5 Marks]

cture given below and answer the questions that follow:

i
_____ e e oy

Questions

1. What is meant by ‘Keep Right, No Left Turn”?

2. In the picture what does the following stand for:

(a) LD (b) BKS

(c) SSP (d) BKD

3. What is a hung assembly?

2. Study the picture given below and answer the questions that follow:

Questions
1. Which year is being referred by cartoon?
2. Who is being commented by the phrase ‘Aya Ram Gaya Ram’?
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PAINTING

CHAPTER 3 - THE PAHARI SCHOOL OF MINIATURE PAINTING
PAINTINGS — KRISHNA WITH GOPIS
AND
NAND, YASHODA AND KRISHNA WITH KINSMEN GOING TO VRINDAVANA

MULTIPLE CHOICE QUESTIONS

Q.1) How many gopis are shown in the painting ‘Krishna with Gopis’ ?
A) 10
B) 7
C)8
D)9

Q.2) ‘Krishna with Gopis’ painting is made by which artist ?
A) Nainsukh
B) Manaku
C) Utkal Ram
D) Guman

Q.3) Name the sub school in which ‘Nand, Yashoda and Krishna with kinsmen going to vrindavana’ painting is
made.

A) Kangra
B) Guler
C) Basohli
D) Garhwal

Q.4) Who is the artist of the painting ‘Nand, Yashoda and Krishna with kinsmen going to vrindavana ?
A) Miskin
B) Nainsukh
C) Ramdas
D) Manaku
SHORT ANSWER TYPE QUESTIONS
Q.1) Write a short note on the subject matter of the painting ‘Krishna with Gopis’.
Q.2) What are the characteristics of the painting ‘Nand, Yashoda and Krishna with kinsmen going to vrindavana?

LONG ANSWER TYPE QUESTIONS
Q.1) Give a detailed description of the following two paintings:
A) Krishna with Gopis
B) Nand, Yashoda and Krishna with kinsmen going to vrindavana.



INFORMATIC PRACTICES
PANDAS SERIES

Q1. What is the Use of Pandas Library?

Q2. What are ndarray? How are they different from Python Lists?

Q3. What are the axes in numpy array?

Q4. What do you understand by a shape of a numpy array or series or dataframe?

Q5. To create sequence of numbers, Numpy provides a function namely that works like range()
but returns arrays instead of lists.

Q6. Name the pandas object that can store one dimentional array like object and can have numeric or labelled
indexes.

Q7. Can you have duplicate indexes in a series object?

Q8. What do these attributes of series signify? (a) Size (b) itemsize (c) nbytes

Q9. If S1 in a series object then how will len(s1) and S1.count() behave?

Q10. Write commands to create following data structures, each having three integers elements 3,4,5 : (a) Ndarray
(b) List (c) Series

Q11. What are the NaNs? How do you store them in a data structures?

Q12. Write the name of the method that is used to retrieve the first top & last five record of data frame?

COMPUTER SCIENCE




FILE HANDLING
ASSIGNMENTS
Q.1 Write a python program to read last 2 lines of a text file.

Q.2 Write a python program to count number of lines in a text file.

Q.3 Write a python program to print from line 2 to line 5 (assuming the file
has more than 5 lines)

Q.4 Write a python program to insert a new line at the beginning of the file
Q.5 Write a python program to move the contents of a file to an list
Q.6 Write a python program to check given IP address is present in a file
Q.7 What Will Be the Output of the Following Code Snippet?
fo = open("myfile.txt", "w+")
print ("File name is : ", fo.name)
seg="File handling is easy in python"
fo.writelines(seq)
fo.seek(0,0)
for line in fo:
print (line)
fo.close()
Q.8 What Will Be The Output Of The Following Code Snippet?

import sys
print ('Enter your name: ')
name ="
while True:

C = sys.stdin.read(1)

if c =="\n"

break
name = name + ¢

print (‘Entered name is:', name) #assume that entered name is mykvs.in



Q.9 What Will Be The Output Of The Following Code Snippet?
fo = open("a.txt", "w+")

print ("File name is : ", fo.name)

txt = "This is 1st line,"

fo.writelines( txt)

seq =" This is 2nd line, This is 3rd line"
fo.seek(0, 2)

fo.writelines( seq )

fo.seek(0,0)

line = fo.readlines()

print ("Read Line: %s" % (line))
fo.close()

Q.10 The following sample file called studentmarks.txt contains one line for
each student in an imaginary class. The students name is the first thing on
each line, followed by some exam scores. The number of scores might be
different for each student.

Mohak 10 15 20 30 40

Manish 23 16 19 22

Ria82217 143217242129 1117
Joy 12 28 21 45 26 10

Freya 14 32 25 16 89

Using the text file studentmarks.txt write a program that prints out the
names of students that have more than five quiz scores.



Q.11 Given a myfile.txt file that has a list of a bunch of names, count how
many of each name there are in the file, and print out the results to the
screen.

Q.12 Write a Python Program that Reads a Text File and Counts the
Number of Times a Certain Letter Appears in the Text File

Q.13 Write a Python Program to Read a Text File and Print all the
Numbers Present in the Text File

Q.14 Write a Python Program to Count the Number of Blank Spaces in a
Text File.

Q.15 Write a Python Program to Read a File and Capitalize the First Letter
of Every Word in the File.

Q.16 Write a Python Program to Read the Contents of a File in Reverse
Order

Q.17 What is the purpose of PYTHONPATH environment variable?
Q.18 What is pickling and unpickling?
Q.19 Name the File-related modules in Python?

Q.20 Which command is used to open a file “c:\temp.txt” in read-mode
only?

Q.21 Which functions is used to check if a file “icon.txt” exists?

Q.22 Which commands can be used to read “n” number of characters from
a file using the file object <file>?

Q.23 What will be the output of the following code snippet?
f= open("myfile.txt", "w+")

print ("Name of the file: ", f.name)

# Assuming that the file contains these lines

# TechBeamers

# Hello Viewers!!

seg="Python programming\nHello Programmers!!"

fo.writelines(seq )



f.seek(0,0)
for line in f:
print (line)

f.close()

Q.24 What will be the output of the following code snippet?
# Open a file in read-write mode

f = open("myfile.txt", "w+")

print ("Name of the file: ", f.name)

# Assuming file has the following line

txt = "This is 1st line of text file,"

f.writelines( txt )

seq =" This is 2nd line, This is 3rd line of text file"
# Write sequence of lines at the end of the file.
f.seek(0, 2)

f.writelines( seq )

# Now read complete file from beginning.
f.seek(0,0)

line = f.readlines()

print ("Read Line: %s" % (line))

# Close the file

f.close()



